Name _________________________________________________

Math 104, Quiz #1, Autumn 2007

1. Write the following inequality in set notation, on a number line and in interval notation.
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a. Set Notation:  
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b. Number Line:  (-------(-------------]-----(
                                         -8               -2 
c. Interval Notation:  (-8,-2]
2. Solve the following equation and write the solution in interval notation.  If there is no solution write Ø.
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3. Solve the following equation and write the solution in interval notation.  If there is no solution write Ø.
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4. Solve the following equation and write the solution in interval notation.  If there is no solution write Ø.
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